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Instruction : Artempt all sections. Illustrate your answer wherever possible.
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Tug-A
(1 3 UAH)
SECTION-A
(1 Mark each)

HEl & A1 TToid ey | A U i i |

State true or false. Attempt all questions.

Tt deo faey ww faen T/l ¢ |

Progressive bundle system is not a cost effective system.

TEoTT T TG et | T ohaT ST & |

Bundles are assembled in the sewing room.

< 2k bl TR A9 & 9T & feTT ToR <1 TR et € |

Chain stitch machine uses a looper for the lower thread.

T % T 3R et 9 ot faem & e wole 9 7ol s | o7t & |

Flat bed machines are used for stitching large open garment parts.

Tl off o | oI 9TeT U T STTHM oA o 7T Rt 9 i owalTg bl 19 & 1l ¢ |

For calculating the amount of fabric required for any garment you need to know only
the length of the garment.

Tues-B
(2 3 UAF)
SECTION-B
(2 Marks each)

g W7 ST ST | g Uie SR HINTT |

Write very short answers. Attempt any five questions.

HIE T T Tgee 7 &1 7 i § 2
What is the function of Feed-off-Arm Sewing Machine ?

AYT TR AT TR T B FaEy |

Give the function of safety over lock machine.

FHUE & aF 3 IH U & & 3T FaEy |

Give the difference between warp and weft grains of the fabric.

O HHIST [Ge & foTT HUg P SR T ST T o T B T AT Bt ST & 2

Which measurements are required for calculating the fabric requirement for stitching a
Kameej for yourself ?




10. I % 9N S G ST | 2

Make a list of garments components.

11. TERR & ol FHg ol ST S fohd TR eIt 2 2
How will you calculate the fabric required for a Churidar ?

12. ¥ f9iar U 9 s9H 9 <7 YA, HUSI U & | 98 Uh g9 I 9911 & | HUS & Th
HieT &1 Tod T 80 & | I8 ToheT gl o ST S € 2 1+1

A shirt manufacturer saves 10 cm of fabric in one shirt. He makes 1000 shirts. Cost of
fabric is ¥ 80 per metre. How much fabric and money does he save ?

Tue-C
REED ED
SECTION-C

(3 Marks each)

50-75 vI=T | Wik I AT | IS Ui U9 Hiew |

Write short answers in 50-75 words. Attempt any five questions.

13. 9 fedhe 1 HE FaR | 3
Give the purpose of bundle ticket.

14. I UHET FH F o0 greifasgstet faen 1 guH S | 3

Explain the individual system of garment assembly.

15. 39 Rebl ol Gl SAIZT ST ST § Qe FHeen & I1e o Gerds ¢ | 3

List the factors which affect the choice of assembly system in the industry.

16. ek 2Tk T HUS W & FARY | 1k 2ieh o oy AT | 1+2
Give the appearance of lock stitch on the fabric. Give the advantages of lock stitch.

17.  Folee 21k it ST Tele o 1ot Teie T deTe vt AT | B+

2 2
Give a brief explanation of blind stitch hemming machine and button hole machine.

18. TR fohd T ST & 2 HIRY ST T 3779 fohet STl b &1 § T 2 1+2
How is marker made ? What points will you keep in mind while making a marker ?

19. TR I T AT ATel HUS W T P [T HIS BT AT T 3THH Hd oTaT 2 3

How is fabric calculated for a stripped fabric for any garment ?
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Que-D
(5 3 UAF)
SECTION-D
(5 Marks each)

100-150 ¥<5i B forgd 3T T | g IR U HifT |

Write descriptive answers in 100-150 words. Attempt any four questions.

HieTor WesR™ fa&er (MPS) T ¢ ? 39 G [aeoan STt | 2+3

What is a modular production system ? Write its essential features.

Tee o Tty 9T o6t gt SE | ST | Yol i 3ehel A o Ug ST | 1+4

List various components of a trouser. Give the steps of assembling a trouser in the
industry.

e feoqont feafaw : (el &Y ooy 2,+2;
(a) TooE B T F AT

(b) & A

() U zop Teme

Write short notes on any two :

(a) Types of Sewing Machine beds
(b) Button Machine

(c) Pin tucking Machine

FAIR o fafi= T 6t et S1E0 | 3Heh (7T hUe ol SR 1 3T e T Tt 2
36” U & HUYS W TR o 3T (layout) TEET | 1+1+3

List various parts of Salwar. How will you calculate the fabric for the same ? Show its
layout on 36” width fabric.

3T e 3T TeTT qLF oTalTg ol Fol2RE 3T F TR 1] bl AL 0k bl Siche ST Teel
T | 3TH AT % ToIT FaT Ut o AT 2 I ST o ol HUS T SR i STHM

oA 1 fereroT 31T | 2t 0l
Your customer wants to make a full length flared dress and a waist length sleeveless

jacket. How much fabric should she get for both ? Explain the calculations for the
requirement of fabric.




